S1LVERSTONE"

Designing Inspiration

SilverStone Technology Co., Ltd.

www.silverstonetek.com

support@silverstonetek.com

5.25” to 3.5” and 2.5” bay converter

FP55

Issue Date : May, 2010
NO.G11212060




Included package

Item Pics Name
@ SCREW-TF-M3X4-NI for 2 x 2.5" HDD
é SCREW-CROSS-R-6_32X4-NI for 3.5" HDD
é SCREW-CROSS-P-M3X4-NI for FDD\card reader
y SCREW-CROSS-PW-M3X6-NI for FP55

Hard drive installation

Due to its unique design, the installation of this product maybe more difficult than other
similar devices so please give yourself extra time and read the following detailed
installation guide.

For Card-reader / FDD screws

1.The FP55 can support a 3.5” external storage device (e.g., floppy, multiple card
reader) or a 3.5” internal device (3.5” hard drive). Please secure the 3.5” external
device with included M3 screws and secure the 3.5”internal device with the #6-32 screws.

.Das FP55 lasst sich mit einem externen 3,5 Zoll-Gerat (z. B. Diskettenlaufwerk,
Multikartenleser) oder einem internen 3,5 Zoll-Gerét (3,5 Zoll-Festplatte) ausstatten.
Bitte fixieren Sie externe 3,5 Zoll-Gerate mit den beigelegten M3-Schrauben, interne
3,5 Zoll-Gerate fixieren Sie mit den 6-32-Schrauben.

1.El FP55 puede aceptar un dispositivo de almacenamiento externo de 3,5” (p.e. una
unidad de disco 6 un lector de tarjetas) 6 un dispositivo interno de 3,5” (disco duro
de 3,5”). Por favor, fije el dispositivo externo de 3,5” con los tornillos M3 incluidos y
fije el dispositivo interno de 3,5” con los tornillos #6-32.

For HDD screws

-

1

FRANCAIS

1.El FP55 puede aceptar un dispositivo de almacenamiento externo de 3,5” (p.e.
una unidad de disco 6 un lector de tarjetas) 6 un dispositivo interno de 3,5” (disco
duro de 3,5”). Por favor, fije el dispositivo externo de 3,5” con los tornillos M3
incluidos vy fije el dispositivo interno de 3,5” con los tornillos #6-32.

ITALIANO

1.FP55 puo supportare sia periferice da 3,5” esterne (ad es. floppy, lettori di memorie)
o interne (hard disk da 3,5”). Utilizzare quindi le viti M3 per il montaggio delle
periferiche esterne, le #6-32 per il montaggio delle interne.

1.YcTtporictBo FP55 nogaepxxvBaeT 3.5-Al01iMOBbIE BHELLIHWE 3anoMuHaloLwme
ycTponcTBa (Hanpumep, rmbkme AUCKU, 1 MHOroyHKLMOHanNnbHbIE YCTPONCTBA ANs
CUYUTBIBAHUSA KapT) unun 3.5-a1oiMoBble BHYTPEHHUI XecTkue ancku (3.5-a1oMMoBbIn
KeCTKuU auck). 3akpenute 3.5-A0MMOBOe BHellHee ycTpolicTeBo 6ontamu M3, a
BHyTpeHHee 3.5-A101MMOBOE YyCTPONCTBO 3akpenuTte 6ontammn #6-32.

1.FP55(&. 18D35MURX FL—DF AR (il 7BV E—, YILFH—FY—4—)
FIF1EDISRETNA R BEN—FTARY F54T) #HR—FLTVET,
35" 5T RIEABOMIR T, 3.5 REIT /A R II#6-32 R CTERELFET .

1.FP55 £ 35" Q& HAXX (220, YEIIIC 2IH) L 3.5 A MK (3.5 51SC1A3)
QEE Y > USLCHL 35 AR CHI0lAS S=2E M3 LIAIZ 5D, 3.5 LHE
CIHIOIAS S2S #6-32 LIALS 0128 DR AIZLICH

1.FPS5AI U IBIMERA93.5” £ 8 (BERWEHREFEFH® , E2WNERH3. 5”7
HE REIEMHE . EREIIERS 57 EER, FHNMAMRAERE,
ERENENS. 57 HER, AN A#6-3202448HE].

1.FP55AI A IBIMEER93. 57 #£E (BE RWMHBNEEFSE) , EWNERXH3.5”
HE (BEEBMME . EREIERS. 57 EER, FHNMAMIZAAER,
ERENERS 57 KB, FRANMAI#6-32124HE.



Hard drive installation

2.Install the 2.5” hard drive and secure with included M3 screws

(Installation of three hard drives in the FP55 is only recommended if the case used
has sufficient airflow around the 5.25" drive bay.)

CEIEED

2.Installieren Sie die 2,5 Zoll-Festplatte, anschlieRend mit den beigelegten
M3-Schrauben fixieren.

(Die Installation von drei Festplatten im FP55 ist nur dann ratsam, wenn innerhalb des
Gehauses ein ausreichender Luftstrom um den 5,25 Zoll-Laufwerkschacht herrscht.)

[ EspANOL ]
2.Instale el disco duro de 2,5” y fijelo con los tornillos M3 incluidos.

(La instalacion de tres discos duros en el FP55 solo se recomienda si la carcasa
usada tiene suficiente flujo de aire alrededor de la bahia para dispositivos de 5,25")

FRANCAIS

2.Installez le disque dur 2.5” et fixez-le avec les vis M3 fournies

(L'installation de trois disques durs dans le FP55 est seulement recommandé si le
boitier utilisé permet d'avoir un flux d'air suffisant autour de la baie 5.25".)

2.Install the 2.5” hard drive and secure with included M3 screws

(Installation of three hard drives in the FP55 is only recommended if the case used
has sufficient airflow around the 5.25" drive bay.)

2.YcTaHoBuTe 2.5-A10NMOBbIN XXECTKUI ANCK U 3aKpenuTe npunaraeMbsiMm 6ontamm M3

(YcTtaHoBka B ycTponcTtBo FP55 Tpex XecTkux ANCKOB AonycTumMa Nullb npu
yCrnoBumn Toro, 4To 5.25-A10MMOBbIN OTCEK AN YCTaHOBKN ANUCKOB A0CTaTOYHO
XOPOLUO BEHTUNNPYETCS.)

CEX

225 N—FFA4 R FS54 TIHEBOMIRCTEELTHELES .
FP55IS/N\—FT 4 RY RS54 T3RERETETDDIE, 525" F 54 IS FHEIZ+57D
I770-HIHERINTVIIBEICRYFET, )

225 otE A= SS& M3 LIAIZ DEELICH
(FP5501l GtECIA 3 304 Z=Al0l= 5.25" =201 HIolol st BI1Jt 224

SOUA AESLICH ~SIECAANAN 2ot €200 MOt 2dE =& ASLICH)

O

s8]

2. %257 FEEE. 3 BUNHROTENGIRA .
*REIAEWHEABERGRIT, BHRLES. BReRERARMAS 257 A RNYEE
W A WELEE .

G

2. Z%2.5” WAL, FIARMRTIMIRLHE.
*ZEIAMAME N EAFGRIT, LALKE, EUEMERANEN5. 257 F RBLOERH,
AL A8



Install the FP55 into the chassis

A.Install the 3.5” external device

1.Please follow the user manual to complete the installation.

2.For the best compatibility with 3.5” bay cover in any chassis, the front screw holes
of FP55 are slightly sunken so they can be used with drive bay cover in place.
However, if this prevents installation of tool-less mechanisms in your chassis, please
revert to using regular screws for installing FP55.

1.Bitte schlie3en Sie die Installation wie in der Bedienungsanleitung beschrieben ab.

2.Zur optimalen Kompatibilitat mit 3,5 Zoll-Schachtabdeckungen wurden die vorderen
Schraubenlécher des FP55 etwas vertieft ausgefuhrt. Falls dies jedoch mit
werkzeuglosen Mechanismen im Gehause kollidieren sollte, installieren Sie das
FP55 mit normalen Schrauben.

1.Por favor, siga el manual de usuario para completar la instalacion.

2.Para la mejor compatibilidad con la cubierta para bahias de 3,5” en cualquier chasis,
los agujeros frontales para tornillos del FP55 estan algo hundidos para de este
modo poder ser cubiertos por el panel para la bahia de dispositivos una vez sea
colocada. Sin embargo, si esto impide la instalacion de mecanismos sin herramientas
en su chasis, por favor vuelva a usar tornillos normales a la hora de instalar el FP55.

FRANCAIS

1.Veuillez suivre le manuel utilisateur pour terminer l'installation.

2.Pour une meilleure compatibilité avec les caches 3.5” de tous les boitiers, les trous
pour les vis frontales du FP55 sont légérement encaissés afin qu'ils puisent étre
utilisé avec les caches du boitier en place. Cependant, si cela empéche I'utilisation
de fixation sans-outils de votre boitier, veuillez utiliser les trous de vis standards
pour installer le FP55.

ITALIANO

1.Seguire le istruzioni del manuale utente per completare l'installazione.

2.Per una maggiore compatibilita con i bay cover da 3,5” di qualsiasi case, | fori
frontali per le viti di FP55 sono leggermente incassati in modo da poter essere
utilizzati con il bay cover nella sua sede. Naturalmente, se ci fossero problemi con
l'installazione in case provvisti di meccanismi toll less, e possibile utilizzare viti
tradizionali per il montaggio di FP55.

1.[ns 3aBepLUEHUs1 YCTaHOBKM criefyinTe ykasaHUsiIM pyKOBOACTBa Mofib3oBaTens.

2.B uensx ny4yllen COBMECTUMOCTU C KPbILLKOW OTCeKa ANs ycTaHOoBKKU 3.5-A10iMoBbIX
yCTpOWCTB B nobom kopnyce, nepegHue oTsepcTust Anst 6onTos Ha ycTponcTee
FP55 cnerka yTonneHbl Tak, 4To6bl KpbILLKa BCTana Ha cBoe MecTo. TeM He MeHee,
€CInu 9TO MellaeT YCTaHOBKe B KOPIyC YyCTPOMCTB, He TPeByIoLNX MHCTPYMEHTOB,
ucrnonb3ynTe cTaHAapTHble 60nThl ANs ycTaHOBKK ycTporicTBa FP55.

1 A=Y= ZaF7NIH>TA VA = LERRSEET,

2HBADT—ADIS RN ANR—[C@&bEbNDH&5. FP550T7AY R URIFL LA
IZH2TEY FSAITRLAAN—DROENFES, 2L, CORBTT—RIZY—IL
TERBIZETEAVEER, BEOMBONTFPSS5E A VA F—ILLTLEELY,

1 AFEX =22 et XS 0tELICH

2229 AHoIAM A= 3.5" HHS 2/ 1N0 S84 Nefol FP552 &M LIAFE0] 22+
OtHZC = Weddt A EcH0IE HI0I HHE Aot E X0t JtsotEs o AsUd
el 0lgd 0l 2 HOIAN SelA UHStLIS0l S&6HA 26l T2 2 FP558 Z&E =
2Bt LIAFS Ol dll D& BHAIDI HEFLICH.

i

RS BERRGRAE, HSFPSRE EMAR.
BT RETERARMS. 257 BIRERXIEEM, FPSSETHIAYS. 257 HEIFLATEMNIN.
MRE L EHRRS. 257 RTABBELFE, FIFRETAEME, LUBMH

o=

1 IESRINFIRAE, §FPs5RE LS.
2. AT 5EMHERS. 257 #IRERARSME, FPS5ATHEAYS. 257 SEIFLBEMIT.
MREWEHFTE. 25”7 RTENMTEFE, BRKRETIENME, LUZL8iE.




B.Internal 3.5” device installation with common 5.25” drive bay cover

Case front panel
1. 2. 3.

1.Remove the aluminum front bezel from the FP55

2.Install FP55 into the case and reinstall the case’s own 5.25” drive bay cover

3.Adjust FP55’s position to ensure that it does not interfere with the drive bay cover
and secure it with screws. [f the case does not have any more mounting holes for
adjustment, the FP55 has additional set of holes to allow for moving it further into
the case.

1.Nehmen Sie die Aluminum-Frontblende vom FP55 ab.

2.Installieren Sie das FP55 im Gehéause, setzen Sie die Gehause-eigene 5,25
Zoll-Schachtabdeckung wieder auf.

3.Passen Sie die Position des FP55 so an, dass es nicht mit der Schachtabdeckung
kollidiert; anschlieRend mit Schrauben fixieren. Falls die Montagebohrungen nicht
zur Anpassung ausreichen sollten, verfugt das FP55 Uber zuséatzliche Bohrungen,
damit es nahezu frei platziert werden kann.

ESPANOL

1.Retire la cubierta frontal de aluminio del FP55

2.Instale el FP55 en la carcasa y reinstale la cubierta de la bahia para dispositivos
de 5,25

3.Ajuste la posicion del FP55 para asegurar que no interfiere con la cubierta de la
bahia de dispositivos y fijela con tornillos. Si la carcasa no tiene mas agujeros de
montaje para el ajuste, el FP55 tiene un juego adicional de agujeros para poder
moverlo hacia el interior de la carcasa.

FRANCAIS

1.Retirez le cadre frontal en aluminium du FP55

2.Installez le FP55 dans le boitier et réinstallez le cache de la baie 5.25”

3.Ajustez la position du FP55 pour assurer qu'il n'interfere pas avec le cache de la
baie et fixez-le avec des vis. Si le boitier n'a pas d'autres trous de montage pour
procéder a l'ajustement, le FP55 posséde un ensemble de trous pour permettre des
réglages plus précis dans le boitier.

1.Rimuovere il frontalino in alluminio da FP55

2.Installare FP55 nel case e riposizionare il bay cover da 5,25 del case.

3.Aggiustare la posizione di FP55 assicurandosi che non interferisca con il bay cover
ed assicurarlo alla struttura con le viti. Se i fori presenti nel case non sono sufficienti
per una regolazione fine della posizione, FP55 possiede un suo set di fori che gli
permettono di essere posizionato nel modo migliore.

1.CHUMUTE antoMuHMeBYyto darnblu-naHens ¢ BHELWHEN CTOPOHbI ycTporicTtBa FP55

2.YcTtaHoBuTe ycTponcTBo FP55 B oTcek 3akpoiTe ero kpblLikon Anst 5.25-aormoBoro
oTceka

3.Mogroxute yctponcteo FP55 Tak, 4ToGbl OHO HE MeLuano KpbilLKe oTceka Ansi
YKECTKUX OUCKOB 1 3akpenuTe 6ontamu. Ecnu B koprnyce He npeaycMoTpeHbl
[OMorHUTEerNbHbIE OTBEPCTUS ANA KpenrneHusi, To ycTporctBo FP55 cHabxkeHo
[OMNONHUTENbHbIM HAGOPOM KpeneXHbIX OTBEPCTUI, NO3BOMNSAIOLLNX 3aKPennUTb ero
rny6xe BHYTpUM koprnyca.

1FPS5MB 7L E = LM IOY hRELEFRYNLET,

2FP55% 7 —RITA VR b—JLL, T—RAEBD5.25" K54 TRL AN—FBMYHTFES,

3.FP55DUBZE FS5 4 TS AN—OMEICESEVKICARLT, ROTEAELET .
T—ADRTHETELWNEE, FPS5ICH RN HY 7T—RADRICEETEDLLSITH>TVET,

1.FP559] MY 220l HZES RMHELICH
2.FP555 Ol A0 Z=6tD HOIAS JAef 5.25" Ect0IE HI0l HAHE ZEELICH
3.FP552 ?IXIE £ &ot1], Ect0lE HIOl HHIOt 2E SR &2 9K
DIHAIZUCH 2ref AflolAet !X ZEE 28 0I2E &0 8= R FPSSE F
C

gkt A 0]
A0 AOIA HEZ 20 H Lo €0 /IX 2F0| JhsELICH

1. #4FP55 RS IR IR IR .

2. f§FPS5R B EARE, ASMERRAD5. 257 IEARSRERERE.

FEFPSSHURTENIE, HETEHBMEIRTIHE, 1§FPo5EE. MRBARIESREARBE
BIFLAL, FPSSTERZEERISHEIFLAT S HIMRE —/EHEITL, HEERA.

o

1. J§FP55 4R FRE MR R .

2. f5FP55R & FH15E, IGHL5TAY5. 257 1HiRE R EMRIEE .

3 BEFPSSRIBTRILE, MEASSNEMIRTISRE, BFPsEE. MRNZRESREAEB
BIFLAL, FPSSTERRERIBIEIFLATA BIMRE —HBIETL, HERMA.



C.Internal 3.5” device installation with SilverStone aluminum drive bay cover

1.Remove the aluminum front bezel from the FP55

2.Install the SilverStone 5.25” aluminum drive bay cover onto the FP55

3.Install the completed FP55 into the case and secure it with screws or tool-less
mechanism.

1.Nehmen Sie die Aluminum-Frontblende vom FP55 ab.

2.Bringen Sie die 5,25 Zoll-Aluminium-Schachtabdeckung von SilverStone am
FP55 an.

3.Installieren Sie das vollstédndige FP55 im Gehause, fixieren Sie es anschlieRend
mit Schrauben oder dem Gehause-eigenen Mechanismus.

1.Retire la cubierta frontal de aluminio del FP55

2.Instale la cubierta para bahia de dispositivos de 5,25” de aluminio de Silverstone
en el FP55

3.Instale el FP55 completado en la carcasa y fijelo con tornillos o mecanismos sin
herramientas

FRANCAIS

1.Retirez le cadre frontal en aluminium du FP55

2.Installez le cache de la baie 5.25” de SilverStone en aluminium sur le FP55

3.Installez le FP55 au complet dans le boitier et fixez-le avec des vis ou avec l'aide
d'un mécanisme sans-outils.

ITALIANO

1.Rimuovere il frontalino in alluminio da FP55

2.Installare il bay cover SilverStone da 5,25 in alluminio su FP55

3.Installare il P55 completo nel case ed assicurarlo alla struttura con le viti o per
mezzo del meccanismo tool less

1.CHUMUTE antoMUHUEBYIO darnbLU-NaHernb C BHELWHel CTOPOHbI ycTpoicTBa FP55

2.YcTaHoBUTE antoMmnHueByto 5.25-A101MMOBYO KpbILLKY koMnaHum SilverStone Ha
ycTtporicTteo FP55

3.YcraHoBuTe cobpaHHoe ycTporictBo FP55 n 3akpenute npu nomoLum 6onTos unu
MexaHuama, He TpebyloLero MHCTPYMEHTOB.

1.FPS5ML T = LB IAY hREJLEFRMYHNLET,
2.SilverStone 5.25" 7 L2 =9 L RS54 TR h/A—%FP55IZIM Y FI+ET,
BEMYFIT DL S-FP55E 7 —RITAN, RUFELRFY—LFERETEELET,

1.FP552 M 220ls HAS MAELIC

2.SilversStone 5.25” 22 0l= 0l HHES FP550 & =&LICH

3.HIOIHB It HEE FP558 HOIAM EXIGHD LHAIZ DAEGHLE SelA HStLISE 01E6
DEELICH

1. #4FP55RYSE B EARIR IR .
2. {4 SR RRAAR W95, 257 FEHR % % EFP55,
3. f§FPoSIE BN 45 E AR, WIUBMEI R TAREREE.

1. J§FP55 4R FRE MR RS .

2. W SRRALFSH5. 257 FEIR R SE FEFP55,
3. IFFPSSERMEME R MR, HUUBLRRTALEREE.

4 N

To be valid, this sheet must be filled out by
your salesperson at the time of purchase.
Store
Purchaser
Purchase date
Model No. : 1 =
Serial No. :

10



	1
	2
	3
	4
	5
	6

